L I8 B =4

D EIENE | 75 E1RKE
SEIEMIEBERN - SABFHIR
EH 22110.
) iR
PEIEMEN,
ST EYNEEHRSE.
B TERAEE, 2B EMNETUTSEBA.
vl HE
é e 4K By KEThAEEMENERE EH

< W, R 22120.).
o TE5 1.4305 F2ER
ElEHF .
. W, OB EREW
o TEN 14305, H#E FABE LD,
e BRHE SN B,
o BER(PAG) , BB , THEN BZEm
. Thermoplast PA 6, red, dull . i%@ ‘ m?ﬁ%‘]ﬂ&ﬁﬁ%ﬂi{i& , J:TS%%

< EUWE EAT2EREMND EEME
- EEEER  ERATIAEME

il
ds
‘ d, [fR
+ |
) 2
! WS
R | ®
. ; / D
N | ; lock nut |
i | T 22120.0114 — .0120 (steel)
w dq 22120.0514 — .0520 (stainless steel)
[ dz | picture 1 picture 2
iTRER
R+ WS HENE" & LI
d, d, 1, d; d; | ds I I3 I Is [ F, F, min | max.
-0,02 min = =
-0,05
[mm] [mm] [N] [°C] [g]
with knob, black — #H 1, i)
4 | M8x1 4 | 16 - - 35,0 16 5 - - 10 4,5 12,0 -30 80 10 | 22110.0103
4 M 8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 10 22110.0104
5 | M10x1 5 | 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 | 22110.0106
5 | M10x1 8 | 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 | 22110.0107
6 | M12x15 6 | 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 29 | 22110.0109
6 M12x 1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 22110.0110
8 | M16x15 8 | 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 | 22110.0112
8 | M16x1,5 | 12 | 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 62 | 22110.0113
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 63 22110.0115
12 | M20x1,5 | 15 | 33 - - 67,0 33 | 10 - - 22 11,5 40,0 -30 80 128 | 22110.0116
16 | M24x2 20 | 33 - - 78,5 38 | 12 - - 27 13,0 54,0 -30 80 203 | 22110.0117
Vit Ei9E

R 83
tNHALDER FIBEE: 15.1.2024


http://halder.com/cn/22110.0103
http://halder.com/cn/22110.0104
http://halder.com/cn/22110.0106
http://halder.com/cn/22110.0107
http://halder.com/cn/22110.0109
http://halder.com/cn/22110.0110
http://halder.com/cn/22110.0112
http://halder.com/cn/22110.0113
http://halder.com/cn/22110.0115
http://halder.com/cn/22110.0116
http://halder.com/cn/22110.0117

L I8 B =4

DEIEMAE / 2 EIRe
R+ ws WEWE " i [ S
dy d, I, d; d, ds I4 I3 Iy Is Ig F, F, min max.
-0,02 min = =
-0,05
[mm] [mm] [N] [°C] [g]
with knob, red - 5 1, $
4 M 8x1 4 16 - - 35,0 16 5 - - 10 4,5 12,0 -30 80 10 22110.2103
4 M 8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 11 22110.2104
5 M10 x 1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 22110.2106
5 M10 x 1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 22110.2107
6 M12x 1,5 6 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 30 22110.2109
6 M12x 1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 | 22110.2110
8 M16 x 1,5 8 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 22110.2112
8 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 64 22110.2113
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 65 | 22110.2115
12 M20 x 1,5 15 33 - - 71,5 33 10 - - 22 11,5 40,0 -30 80 117 22110.2116
16 M24 x 2 20 33 - - 78,5 38 12 - - 27 13,0 54,0 -30 80 202 22110.2117
TFE -#HE 2,80
4 M 8x1 4 - M3 7 - 16 5 45 2,5 10 4,5 12,0 - 250 9 | 22110.0143
4 M 8x1 6 - M3 7 - 16 5 4,5 2,5 10 4,0 12,5 - 250 9 22110.0144
5 M10 x 1 5 - M4 8 - 18 6 55 3,0 12 5,0 15,0 - 250 16 22110.0146
5 M10 x 1 8 - M4 8 - 18 6 5,5 3,0 12 5,0 18,0 - 250 17 22110.0147
6 M12x 1,5 6 - M5 9 - 22 6 7,0 3,5 14 6,5 19,0 - 250 25 | 22110.0149
6 M12 x 1,5 9 - M5 9 - 22 6 7,0 3,5 14 6,0 25,0 - 250 26 22110.0150
8 M16 x 1,5 8 - M6 10 - 26 8 8,5 4,0 17 8,5 26,0 - 250 54 22110.0152
8 M16 x 1,5 12 - M6 10 - 26 8 8,5 4,0 17 8,5 28,0 - 250 55 | 22110.0153
10 M16 x 1,5 12 - M6 10 - 26 8 8,5 4,0 17 9,5 38,0 - 250 56 22110.0155
12 M20 x 1,5 15 - M6 12 - 33 10 8,5 4,0 22 11,5 40,0 - 250 111 22110.0156
16 M24 x 2 20 - M8 15 - 38 12 11,5 5,0 27 13,0 54,0 - 250 193 | 22110.0157
with knob, black — K 1, T
4 M 8x1 4 16 - - 35,0 16 5 - - 10 4.5 12,0 -30 80 10 22110.0203
4 M 8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 10 22110.0204
5 M10 x 1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 22110.0206
5 M10 x 1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 | 22110.0207
6 M12 x 1,5 6 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 29 22110.0209
6 M12x 1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 22110.0210
8 M16 x 1,5 8 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 | 22110.0212
8 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 62 22110.0213
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 63 22110.0215
12 M20 x 1,5 15 33 - - 67,0 33 10 - - 22 11,5 40,0 -30 80 128 | 22110.0216
16 M24 x 2 20 33 - - 78,5 38 12 - - 27 13,0 54,0 -30 80 203 22110.0217
with knob, red - #8551, T4
4 M 8x1 4 16 - - 35,0 16 5 - - 10 4,5 12,0 -30 80 10 22110.2203
4 M 8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 11 22110.2204
5 M10 x 1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 | 22110.2206
5 M10 x 1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 22110.2207
6 M12x 1,5 6 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 30 22110.2209
6 M12x 1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 | 22110.2210
8 M16 x 1,5 8 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 22110.2212
8 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 64 22110.2213
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 65 | 22110.2215
12 M20x 1,5 15 33 - - 71,5 33 10 - - 22 11,5 40,0 -30 80 117 22110.2216
16 M24 x 2 20 33 - - 78,5 38 12 - - 27 13,0 54,0 -30 80 202 22110.2217
TFE - R 2, TEWN
4 M 8x1 4 - M3 7 - 16 5 4,5 2,5 10 4,5 12,0 - 250 9 22110.0243
4 M 8x1 6 - M3 7 - 16 5 4,5 2,5 10 4,0 12,5 - 250 9 22110.0244
5 M10 x 1 5 - M4 8 - 18 6 55 3,0 12 5,0 15,0 - 250 16 22110.0246
5 M10 x 1 8 - M4 8 - 18 6 55 3,0 12 5,0 18,0 - 250 17 22110.0247
6 M12x 1,5 6 - M5 9 - 22 6 7,0 3,5 14 6,5 19,0 - 250 25 | 22110.0249
6 M12x 1,5 9 - M5 9 - 22 6 7,0 3,5 14 6,0 25,0 - 250 26 22110.0250
8 M16 x 1,5 8 - M6 10 - 26 8 8,5 4,0 17 8,5 26,0 - 250 54 22110.0252
" it PME

TH 23
EEHALDER FIZTE: 15.1.2024


http://halder.com/cn/22110.2103
http://halder.com/cn/22110.2104
http://halder.com/cn/22110.2106
http://halder.com/cn/22110.2107
http://halder.com/cn/22110.2109
http://halder.com/cn/22110.2110
http://halder.com/cn/22110.2112
http://halder.com/cn/22110.2113
http://halder.com/cn/22110.2115
http://halder.com/cn/22110.2116
http://halder.com/cn/22110.2117
http://halder.com/cn/22110.0143
http://halder.com/cn/22110.0144
http://halder.com/cn/22110.0146
http://halder.com/cn/22110.0147
http://halder.com/cn/22110.0149
http://halder.com/cn/22110.0150
http://halder.com/cn/22110.0152
http://halder.com/cn/22110.0153
http://halder.com/cn/22110.0155
http://halder.com/cn/22110.0156
http://halder.com/cn/22110.0157
http://halder.com/cn/22110.0203
http://halder.com/cn/22110.0204
http://halder.com/cn/22110.0206
http://halder.com/cn/22110.0207
http://halder.com/cn/22110.0209
http://halder.com/cn/22110.0210
http://halder.com/cn/22110.0212
http://halder.com/cn/22110.0213
http://halder.com/cn/22110.0215
http://halder.com/cn/22110.0216
http://halder.com/cn/22110.0217
http://halder.com/cn/22110.2203
http://halder.com/cn/22110.2204
http://halder.com/cn/22110.2206
http://halder.com/cn/22110.2207
http://halder.com/cn/22110.2209
http://halder.com/cn/22110.2210
http://halder.com/cn/22110.2212
http://halder.com/cn/22110.2213
http://halder.com/cn/22110.2215
http://halder.com/cn/22110.2216
http://halder.com/cn/22110.2217
http://halder.com/cn/22110.0243
http://halder.com/cn/22110.0244
http://halder.com/cn/22110.0246
http://halder.com/cn/22110.0247
http://halder.com/cn/22110.0249
http://halder.com/cn/22110.0250
http://halder.com/cn/22110.0252

L I8 B =4

DEIEMAE / 2 EIRe
R+ WS wERE" @ ﬁ ms
dy d; I d; dy ds Iy I3 Iy Is ls Fy F, min max.
-0,02 min = =
-0,05
[mm] [mm] [N] [°C] [g]

8 M16 x 1,5 12 - M6 10 - 26 8 8,5 4,0 17 8,5 28,0 - 250 55 22110.0253
10 M16 x 1,5 12 - M6 10 - 26 8 8,5 4,0 17 9,5 38,0 - 250 56 22110.0255
12 M20 x 1,5 15 - M6 12 - 33 10 8,5 4,0 22 11,5 40,0 - 250 111 22110.0256
16 M24 x 2 20 - M8 15 - 38 12 11,5 5,0 27 13,0 54,0 - 250 193 22110.0257

Vit Ei9E

B

R+ wRF R ﬁ ms
d;
[mm] [mm] [g]

Lock nuts ISO 8675 (DIN 439), i
M 8x1 13 2,7 22120.0114
M10 x 1 16 52 22120.0115
M12x 1,5 18 7,5 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
M24 x 2 36 58,0 22120.0122

Lock nuts ISO 8675 (DIN 439), 454K
M 8x1 13 2,7 22120.0514
M10 x 1 16 5,2 22120.0515
M12x 1,5 18 7,5 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
M24 x 2 36 58,0 22120.0522

Rz sl

EF

For detailed compliance information please select the desired article number.

T¥H3IM3

tNHALDER

& 7E: 15.1.2024


http://halder.com/cn/22110.0253
http://halder.com/cn/22110.0255
http://halder.com/cn/22110.0256
http://halder.com/cn/22110.0257
http://halder.com/cn/22120.0114
http://halder.com/cn/22120.0115
http://halder.com/cn/22120.0116
http://halder.com/cn/22120.0118
http://halder.com/cn/22120.0120
http://halder.com/cn/22120.0122
http://halder.com/cn/22120.0514
http://halder.com/cn/22120.0515
http://halder.com/cn/22120.0516
http://halder.com/cn/22120.0518
http://halder.com/cn/22120.0520
http://halder.com/cn/22120.0522

